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&. 6�2������ ��&.���������� ������ � 3 2�������2� ��/��2� ���&�8
�����. +��?&�2� �����/������ $�����&(��0 ����$�����0 �����.���#
0��������6��2�0 ��&�/��2 2�������� ��/�� � $����� ���-���. ��8
+��� �? �����/������ L��0 �����.��� ��1�� �&. �0 +��&�1���. � �+�8
����j ������� ����6���# /�� $�����&(��� �����.��� �������/���# ��&�
2���� � $����� 2��(9� �����/������ 6��/���.# ������� L������ ������
� ����&(��2� 2�������2� ��/��2� 

�[S OPQ GY[TQ_ SQYUOXyXTOXG TOSXNf VXOP 3 R[XNO8YX~Q ^UTTQT OPQ TOU\XYXOZ RS[\8
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��'(��)�  ���"* 6�2�����. ������# $�����&(��� ����$������ ��8
���.��.# �����/�����( 
+,-./012* GY[TQ_ TOSXNf# GQNOSUY S[OUOX[NUY TOUOQT# TOU\XYXOZ 
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� ��?���0 l<# Dm ����2������ 2���&( ?������ !�&� L�6���/������ ������" � ��8
�� 6�2������ ��&.���������� ������# �����1����� n ��/�/��2� 2����2� 
&.
L��� �����2� ?�&� ������� ��/��� ��9���. ��������� ���1���.# �+�����j-��
����$������ �����.��� � �����2����� ���-���� �����2�# ��/��&��� L�����. �
��&���� 2�2��� ����$�����0 �����.���# ���&������� ���6�&������� ����������
���1�# +�������� �&����7���$�. ����$�����0 �����.��� ,�&� +���6��� lDm# /��
L�� �����.��. +����6��&.j��. �� <" ��+�$��&����&(���# � ������0 ���-�j-�.�.
������ ������&��� �6 ����6��� ��+�$��&����# ����������0 � 2�������0 ��/��0�
D" &�������# ����/�j-�� ���-���j ������# �&�1����� �6 �����&(��0 +�.2�&�8
�����0 ����6��� � ����-�� 2�������� ��/�� � 2����0 ���?��� @" $�����&(���#
��&�/�j-���. �� &������0 ��&�/��2 ����� �&� �����&(��0 2�������0 ��/�� �
$����� ���-���. 
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� ��/�� 6����. +��&�1���� � �������� �+��������+�� ������ ��1�� ��+���
�? �����/������ ����$�����0 �����.��� ��������&(�� 2�&�0 ��62�-����# ���&�8
�������� ����� �&. ��6&�/��0 �������0 2���&�� 2�6���� � ?������� l@# Bm 

� �����.-�� ��?��� ����2������ +��?&�2� �����/������ �&. $�����&(���� ��8
��$������� �����.��. � n = 3 ��/�/��2� 2����2� m1# m2# m3# ���� �6 ������0
!m3" +������. � $����� ���-���. � /�����0 �&�/�.0 +�� ��������� ��&j �����
�&� ���0 2��� �2��2 ���&���/��j 6���/� �&. $�����&(��0 �����.��� �����2 �
n < 3 �&�/�� m3 = 0 ������������� 6���/� �? �����/������ &�������� ����$���8
���� �����.��. � ���2. ��/�/��2� 2����2� m1 � m2 

3� �%$"9%(� =%� :�"�$�$%; % E�$!�"�<$)�  � !�;$%;


���2�/����� ��������.# �+�����j-�� ���1���� 6�2������ ��&.����������
������ � n ��/�/��2� 2����2� mj # � ���.1����2 γ# 2������ +����0����(j Xμ(τ,
σ) � +����������� )���������� R1,3 �����.��. �6 �������. � �2�j� ��� l<m

∂2Xμ

∂τ2
− ∂2Xμ

∂σ2
= 0 !<"

mj
d

dτ

ẋμ
j (τ)√
ẋ2

j (τ)
+ γ

[
X

′μ + σ̇j(τ)Ẋμ
]∣∣∣

σ=σj−0
− γ

[
X

′μ + σ̇j(τ)Ẋμ
]∣∣∣

σ=σj+0
= 0, !D"

mn
d

dτ

ẋμ
0 (τ)√
ẋ2

0(τ)
+ γ

[
X

′μ(τ∗(τ), 2π) −X
′μ(τ, 0)

]
= 0. !@"

+�� ��+�&����� ��&����2�0 ?�6 ������/���. �?-����� ��&���� �������2�&(��8
���

(Ẋ ±X ′)2 = 0 !B"

� ��&����
σ0(τ) = 0, σn(τ) = 2π. !E"

k���( Ẋμ ≡ ∂τX
μ# X

′μ ≡ ∂σX
μ# ���&.���� +���6������� � R1,3 (a, b) = ημνa

μbν #
�������( ����� c = 1# +���2��� σ �62��.���. � +����&�0 σ0 ≤ σ ≤ σn# �� ���(
σ ∈ [0, 2π]# ��������. σ = σj(τ) �&�

xμ = xμ
j (τ) ≡ Xμ

(
τ, σj(τ)

)
, j = 0, 1, . . . , n

�+����&.j� ���������� 2�������0 ��/��# +��/�2 +�� j = 0 � j = n ��� �+�������
���� � �� 1� ���������j n8�� ��/��

Xμ(τ∗, 2π) = Xμ(τ, 0) !F"

�� 2������ +����0�����# �2�j-�� 7��2� ���?�� 
�� +���2���� τ � τ∗# �0��.-��
� ��&���� 6�2�����. 2������ +����0����� !F"# ��.6��� ������9����2 τ∗ = τ∗(τ)
lE# Fm 

��9���� �����2� !<" n !F"# �+�����j-�� $�����&(��� ����$������ �����.��� �
n = 3 � 2����� m3# +���.-���. � $����� ���-���.# +�&�/��� � ��?��� lDm � ����

Xμ(τ, σ) = xμ
0 + eμ

0a0τ + u(σ) · eμ(ωτ). !="
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k���(
eμ(ωτ) = eμ

1 cosωτ + eμ
2 sinωτ, !C"

������� e0, e1, e2, e3 �?��6�j� �������2��������� ?�6�� � R1,3 � ��&���� 6�2�8
����. !F" τ∗ = τ  
&. ��9���. !=" ���������2� .�&.j��. ��&�/���

σj(τ) = σj = G[NTO, j = 1, 2, !I"

Qj =
γ

mj

√
ẋ2

j(τ), j = 1, 2, 3. !<>"

��� 7���$��

u(σ) =
a0

ω
·
⎧⎨
⎩

sinωσ, σ ∈ [0, σ1],
2s1c1 cosωσ + (s21 − c21) sinωσ, σ ∈ [σ1, σ2],
−S cosωσ + C sinωσ, σ ∈ [σ2, 2π],

!<<"

�+����&.���. �6 ��������. !<"# ��+���������� 7���$�� Xμ(τ, σ) +�� σ = σj �
��&���� !D" n !F" lDm k���( � ��1� ��+�&(6��2 �?�6��/���. �&. ��������

c1 = cosωσ1, s1 = sinωσ1, C = cos 2πω, S = sin 2πω,

c3 = cosω(2π − σ2), s3 = sinω(2π − σ2), C2 = cosωσ2, S2 = sinωσ2.

����1���� !=" �+������� �����2����� ���-���� ���0 ���2�-����0 +�.2�&�8
�����0 ����6��� ������# ������� ������.j� ��� ��/�� � 2����2� m1# m2# ���8
��2���� ���1�-���. +� ����1����.2 �� �������.2� v1 � v2 �����2� ���-����.
� +&������� e1, e2 � ��&���� �������(j Ω = ω/a0 ��� L��2 ��/�� � 2����� m3

+������. �� ������ � $����� ���-���. !v3 = 0" k��/���. +���2����� !<>" σj # Qj #
mj # vj # a0 ��.6��� ������9���.2� lDm

σ2 − σ1 = π, !<D"

v1 = s1 = sinωσ1, v2 = s3 = sinω(π − σ1), !<@"

2
Q1

ω
=
s1
c1

=
v1√

1 − v2
1

, 2
Q2

ω
=
s3
c3

=
v2√

1 − v2
2

, !<B"

a0 =
m1Q1

γ
√

1 − v2
1

=
m2Q2

γ
√

1 − v2
2

=
m3Q3

γ
, !<E"

m1v1
1 − v2

1

=
m2v2
1 − v2

2

. !<F"

��&� ��0����2� �����2� $�����&(���� ����$������� �����.��. .�&.j��. 6��8
/���. +���2����� m1# m2# γ# v1# ��# �+����&�� � +�2�-(j ��������. !<F" 6��/����
v2# 2� 2�1�2 ��/��&��( �6 ��������� !<@" 6��/���.

ω =
(−1)k1 arcsinv1 + (−1)k2 arcsinv2

π
+ 2(k1 + k2), σ1 =

(−1)k1 arcsin v1 + 2πk1

ω
.

!<="
k���( k1 � k2 � +���6��&(��� $�&�� /��&�# +�� ������0 �2�j� 2���� �����������
0 < σ1 < π# s1 > 0# s3 > 0 �������9�2� �&�/�j k1 = k2 = 0 �����������j� ���
���2�-����0 +�.2�&������0 ����6�� ������# ������.j-�� ��/�� � 2����2� m1#



B> ���� �����

m2 
&. �����0 ��6��9����0 6��/���� k1 � k2 L�� ����6�� �2�j� 7��2� &�2�8
��0# �&�1����0 �� ����� !���-�j-���." +�.2��# +�� L��2 ��/�� ���?� !��/��
��6�����"# ���1���. +� ����1����.2 �� �������(j ����� ��6����j-�� +�� L��2
��6&�/��� ��+�&���/����� ��+� ��9���� !=" �&����7�$������� � ��?��� lDm 

5� �$"�%D : !�?(%�� !%


&. ���&�6� �����/������ $�����&(��0 ����$�����0 �����.��� !=" +��2���2
2����# ��6��?������� ����� �&. �����0 �������0 2���&�� l@m# lBm# l=m ����2����2
�?-�� ��9���� ��������. ���1���. !<" ������

Xμ(τ, σ) =
1
2
[Ψμ

j+(τ + σ) + Ψμ
j−(τ − σ)], ] σ ∈ [σj−1, σj ], j = 1, . . . , n. !<C"

k���( Ψμ
j±(τ ± σ) � �&����� ������87���$�� ������ ����2����# 2�����. +����08

����( !<C" .�&.���. �&����� 2�1�� 2�����2� &���.2� 2�������0 ��/�� 
)� �?�6��/�2 Ψ̆μ

j± 7���$�� � ����1���� !<C" �&. $�����&(���� ����$�������

�����.��. !=" ����6������ L��0 7���$�� Ψ̆μ
j± � ������������ � !<<" �2�j� ���

Ψ̆′μ
1±(τ) = a0

[
eμ
0 ± eμ(ωτ)

]
,

Ψ̆′μ
2±(τ) = a0

[
eμ
0 + 2v1c1éμ(ωτ) ± (2v2

1 − 1) eμ(ωτ)
]
,

Ψ̆′μ
3±(τ) = a0

[
eμ
0 − Séμ(ωτ) ± Ceμ(ωτ)

]
.

!<I"


&. �+�����. +���6��&(���� 2�&��� ��62�-���.# �� ���( ���1���.# ?&�6����
� ����$�����2� !="# 6�����2 ������87���$�� Ψ′μ

j± ?&�6��� � Ψ̆′μ
j± � ����

Ψ′μ
j±(τ) = Ψ̆′μ

j±(τ) + ϕμ
j±(τ). !D>"

��62�-���� ϕμ
j±(τ) �/����2 2�&�2# �+����. ��1� ��������/��� +� ϕj± �&����8

2�� 

6 ��&���� �������2�&(����� !B" �&���j� ��&���. �����+���?�����

Ψ′
j+

2 = Ψ′
j−

2 = 0, j = 1, 2, 3

��� �&. 7���$�� Ψ′μ
j±# ��� � �&. Ψ̆′μ

j± � ����1���� !D>"# /�� � +����2 +��.���
2�&���� +� ϕj± +���1���� ��������� ��&j ���&.����� +���6������.(

Ψ̆′
j±, ϕj±

)
= 0, j = 1, 2, 3. !D<"


&. ��62�-����0 ���1���� ��������� τ∗ = τ � σj(τ) = σj = G[NTO !I"# ���?-�
�����.# �� ��+�&�.j��. � ��&1�� ?��( 6�2����� �� ���������

τ∗(τ) = τ + δ(τ), σ1(τ) = σ1 + δ1(τ), σ2(τ) = σ2 + δ2(τ), !DD"

��� δ(τ) � δj(τ) � 2�&�� ��62�-���. 
����1���� !<C" � 7���$�.2� !D>" .�&.���. ��9����2 ��������� ���1���.

������ !<" ��L��2� ��������. L��&j$�� 2�&�0 ��62�-���� ϕμ
j±(τ)# δ(τ) � δj(τ)
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2� ��0���2# +������&.. ����1���. !D>"# !<I" � !DD" � �����9���. ��������. !D"#
!@"# ��&���� 6�2�����. !F" � ��&���. ��+���������� �� &���.0 σ = σj(τ)

Xμ
(
τ, σj(τ) − 0

)
= Xμ

(
τ, σj(τ) + 0

)
, j = 1, 2 !D@"

� &������2 +� ϕμ
j± � δj +��?&�1���� ��� L��2 ���� �/���( ��������� !D<"# ��&�8

������ 2��1���&�
{[

d
dτX(τ, σj(τ))

]2}−1/2

� +�+����� �� ��62�-���. ����2�����

τ∗ � σj(τ) !DD"# ��+��2��A

Ψ̆′μ
n±(τ∗ ± 2π) 
 Ψ̆′μ

n±(τ ± 2π) + δ(τ) Ψ̆′′μ
n±(τ ± 2π).

���.�� � �������2 eμ(ωτ) !C" �����2 ��������&(��� �2� �����/��� ������

éμ(ωτ) = −eμ
1 sinωτ + eμ

2 cosωτ,

���-�j-���. � +&������� e1, e2 
�?�6��/�2 �&���j-�2 �?��6�2 ���&.���� +���6������. �������� ��62�-����

!D<" �� ������� e0, e3, e
μ(ωτ), éμ(ωτ)A

ϕ0
j± ≡ (e0, ϕj±), ϕ3

j± ≡ (e3, ϕj±), ϕj± ≡ (e, ϕj±), ϕ́j± ≡ (é, ϕj±), !DB"

��������� ����1���. !<I" � ��������� !D<"# +�&�/�2 F ��������� �&. +����8
$�� !DB" ��62�-����A

ϕ0
1±(τ) ± ϕ1±(τ) = 0,

ϕ0
2±(τ) + 2v1c1ϕ́2±(τ) ± (2v2

1 − 1)ϕ2±(τ) = 0,

ϕ0
3±(τ) − Sϕ́3±(τ) ± Cϕ3±(τ) = 0.

!DE"

����������� ����1���� !<C"# !D>"# !<I" � !DD" � ���6����� ��������. !D"# !@"#
!F" � !D@" +��&� �+��-���. +������� � �&���j-�� �����2� �6 F ��������0 &���8
���6������0 ��������� �&. ��62�-���� ϕiμ

± # δj � δA

ϕμ
1+(+1) + ϕμ

1−(−1) − ϕμ
2+(+1) − ϕμ

2−(−1) + 4c1a0

[
eμ(ωτ) δ̇1(τ) + ωéμ(ωτ) δ1

]
= 0,

ϕμ
2+(+2) + ϕμ

2−(−2) − ϕμ
3+(+2) − ϕμ

3−(−2) − 4c3a0

[
eμ(ωτ) δ̇2(τ) + ωéμ(ωτ) δ2

]
= 0,

ϕμ
3+(+) + ϕμ

3−(−) − ϕμ
1+(τ) − ϕμ

1−(τ) + 2a0e
μ
0 δ̇(τ) = 0,

d
dτ

[
ϕμ

1+(+1) + ϕμ
1−(−1) + 2c1a0(eμδ̇1 + ωéμδ1) +G1(e

μ
0 + v1é

μ)
]

+

+Q1

[
ϕμ

1+(+1) − ϕμ
1−(−1) − ϕμ

2+(+1) + ϕμ
2−(−1)

]
= 0.

d
dτ

[
ϕμ

2+(+2) + ϕμ
2−(−2) − 2c3a0(eμδ̇2 + ωéμδ2) +G2(e

μ
0 − v2é

μ)
]

+

+Q2

[
ϕμ

2+(+2) − ϕμ
2−(−2) − ϕμ

3+(+2) + ϕμ
3−(−2)

]
= 0.

d
dτ

[
ϕμ

1+ + ϕμ
1− + (ϕ1+ − ϕ1−) eμ

0

]
+Q3

[
ϕμ

3+(+) − ϕμ
3−(−) − ϕμ

1+ + ϕμ
1− + 2ωa0é

μδ
]

= 0.

!DF"



BD ���� �����

� @ +��&����0 ��������.0 �+�-��� ����2���� (τ) �&. ϕμ
1±# δ# δj � (ωτ) �&. eμ#

éμ� ������� �?�6��/���. �&. �����0 ����2�����

(±1) ≡ (τ ± σ1), (±2) ≡ (τ ± σ2), (±) ≡ (τ ± 2π),

� ���1�

G1 = ϕ1+(+1) − ϕ1−(−1) − v1c
−1
1

[
ϕ́1+(+1) + ϕ́1−(−1) − 2ωa0δ1

]
,

G2 = c−1
3

{
C2

[
ϕ2−(−2) − ϕ2+(+2)

]
+ S2

[
ϕ́2+(+2) + ϕ́2−(−2)

]
+ 2ωv2a0δ2

}
.

������ ��� ��������. !DF" �&���j� �6 ��&���� ��+���������� !D@"# ����(� �
�6 ��&���. 6�2�����. !F"# ����&(��� � �6 ��������� !D" � !@" ��� �+��-����
��������� !DF" ��+�&(6����� ��������� !<D" n !<="# !<I" � !DE" 

	2��1�. ���&.��� ��������. !DF" �� ?�6����� ������� e0# e3# e(τ)# é(τ)# +�&�8
/�2 &������j �����2� ��77����$��&(��0 ��������� � +����.���2� ��L77�$�8
����2� !� ���&��.j-�2�. ����2����2" ��������&(�� δ# δj � +����$�� !DB" ���
�+����&.�� L��&j$�j 2�&�0 ��62�-���� ����$������� �����.��. !=" 

4���( ��������� L��� �����2� � 9���(j ���6������2� 7���$�.2� ϕ3
j±# +�8

&�/����� ��� +����$�� ��������� !DF" �� ������ e3 !��������&(��� +&�������
���-���."# �?��6�j� �&���j-�j 6�2�����j +�������2�A

ϕ3
j+(+j) + ϕ3

j−(−j) = ϕ3
j∗+(+j) + ϕ3

j∗−(−j),

ϕ3
3+(+) + ϕ3

3−(−) = ϕ3
1+(τ) + ϕ3

1−(τ),

ϕ̇3
j+(+j) + ϕ̇3

j−(−j) +Qj

[
ϕ3

j+(+j) − ϕ3
j−(−j) − ϕ3

j∗+(+j) + ϕ3
j∗−(−j)

]
= 0,

ϕ̇3
1+(τ) + ϕ̇3

1−(τ) +Q3

[
ϕ3

3+(+) − ϕ3
3−(−) − ϕ3

1+(τ) + ϕ3
1−(τ)

]
= 0.

!D="

k���( j = 1, 2# j∗ ≡ j + 1 �����2� !D=" � ���������. � ���&��.j-�2�. ����2��8
��2 


-�2 ��9���. L��� �����2� � ���� ���2����

ϕ3
j± = B3

j± exp(−iξτ). !DC"

J�� +���������� +���?��6��� !D=" � &������j ���������j �����2� �6 F �&��?8
���/����0 ��������� ��������&(�� F �2+&���� B3

j± ��� �2��� ��������&(���
��9���. ����� � ��&(�� �����# ����� ����� ��&j �� �+����&���&(A∣∣∣∣∣∣∣∣∣∣∣∣

E1+ E1− −E1+ −E1− 0 0
0 0 E2+ E2− −E2+ −E2−
−1 −1 0 0 E3+ E3−

(iξ − Q1) E1+ (iξ + Q1) E1− Q1E1+ −Q1E1− 0 0
0 0 (iξ − Q2) E2+ (iξ + Q2)E2− Q2E2+ −Q2E2−

−iξ − Q3 −iξ + Q3 0 0 Q3E3+ −Q3E3−

∣∣∣∣∣∣∣∣∣∣∣∣
= 0.

k���( Ej± = exp(∓iξσj) J�� ��������� �������. � ����

2(cos 2πξ − 1) − ξ
(
Q−1

1 +Q−1
2 +Q−1

3

)
sin 2πξ +

+ ξ2
(

sin2 πξ

Q1Q2
+
s̃3 sinσ2ξ

Q2Q3
+
s̃23 sinσ1ξ

Q1Q3

)
− ξ3s̃3 sinσ1ξ · sinπξ

Q1Q2Q3
= 0, !DI"
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�
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���� B@

��� s̃3 = sin(π − σ1)ξ# s̃23 = sin(2π − σ1)ξ 
	�������� !DI" �+����&.�� �+���� /����� ξ +�+���/��0 !+� ����9���j � +&��8

����� ���-���. e1, e2" 2�&�0 ��62�-���� ����2�������2��� $�����&(���� ����8
$������� �����.��. ��&� � L���� ��������. �������. ��2+&������ �����( ξ =
ξ1 + iξ2 � +�&�1���&(��� 2��2�� /���(j ξ2# �� �2+&����� �����������j-��� ��68
2�-���. ?���� ����� L��+����$��&(��A

ϕ3
k = B3

k exp(−iξ1τ) · exp(ξ2τ).

� L��2 �&�/�� ���&����2�� ����$������ �����.��� ���6������. �������/���2 l@#
Bm 

���&�6 &���� /���� f(ξ) ��������. !DI" +�� ��2+&�����0 ξ = ξ1 + iξ2# �&8
&j�������2�� ��� <# +���6�����# /�� ��� ����� L���� ��������. ��-��������
!ξ = ξ1" � �?��6�j� �/����� ��?�� �� ��� < 1����2� � �����2� &���.2� +���8
6��� &���� ��&����� �����. �������������� ��-��������� � 2��2�� /���� 7���8
$�� f(ξ) = f(ξ1 + iξ2) � ��������� !DI" ����.2 ������� ��������. �����������j�
��/�� +�����/���. 1����� � ������ &���� �� ��� < 
�0����2� �����2� ����8
$������� �����.��. !=" .�&.j��. ���6����� 6��/���. +���2����� !<>" Q1# Q2 �
Q3 ��� +�6��&.j� �+����&��( 6��/���. ω# σ1# vj � �� � +�2�-(j ���������
!<D" n !<=" ��+��2��# ω .�&.���. ����2 �6 ������ ��������.

tg πω =
2ω(Q1 +Q2)
ω2 − 4Q1Q2

, !@>"

�&���j-��� �6 ��������� !<B" 
&. �����.��. �� ��� <� ��?��� �����( L���� ����8
����. ω 
 0,766898# ����/�j-�� ����9���j 2��� m1 : m2 : m3 = 1 : 1 : 2,79� �&.
�����.��. �� ��� <7 ω 
 2,331# m1 : m2 : m3 = 1 : 3,12 : 13,18 H������ ������8
��. ω �&. �����.��. �� ��� <� � ���2��(9�� +�&�1���&(��� �����( ��������.
!@>"# �� �����������j� 6��/���. k1 = k2 = 0 � 7��2�&� !<=" � +�.2�&�������
����6�� ������ 2�1�� 2�������2� ��/��2� �����.��� �� ��� <7 �+����&.���.
6��/���.2� k1 = 0# k2 = 1 � ��&�/��2 ���0 ��/�� ��6����� �� ������ 


��&�������� ��������. !DI" +���6�����# /�� +�� ���0 ��+����2�0 6��/���.0
Qj # k1# k2 ��� ����� L���� ��������. .�&.j��. ��-��������2� /��&�2�# +�L��2�
�2+&����� +�+���/��0 2�&�0 ��62�-���� !DC" �� ������ � �����2 ���2��� 

7� �"�)� ��D9:>�$%; � 6�� =� !% ��">�$%;

��&�/����� ��6�&(��� �� +�6��&.�� ���&��( ����� �? �����/������ ����2��8
�����2��� $�����&(���� ����$������� �����.��.# ��� ��� �&. L���� ���?0���2�
����2�����( 2�&�� ��62�-���. �����0 ��+�� 
&. L���� �2��1�2 ���&.��� F
��������� �����2� !DF" �� @ ������� e0# e(τ)# é(τ)# ��+�&(6�. +�� L��2 ������9�8
��.

eμ(τ) = c1e
μ(±1) ∓ s1é

μ(±1) = C2e
μ(±2) ∓ S2é

μ(±2) = Ceμ(±) ∓ Séμ(±)

� �0 ���&��� �&. é(τ) �&. �2��1���. �� ������87���$�� ϕμ
j±(±j) � ��6&�/��2�

����2����2� 
��&� �6 +�&�/��9�0�. ��������� ���&j/��( 7���$�� ϕ0

j± � +�2�-(j ������8
9���� !DE"# ��+��2��# ϕ0

1±(τ) = ∓ϕ1±(τ)# �� ����� �����9�0�. <C ��������� ���
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���� �� /���� ����
��� ���
�. 
�0���
����'  	��� +1���$�, � !��!�'  	��� +���*
���, ��	
����. +��,2 	, Q1 = Q2 = Q3 = 1� �, Q1 = 1� Q2 = 0,4� Q3 = 0,1�

���1���. &������2� ��2?���$�.2� ����&(��0 
��&j/�� �0# +�&�/�2 �����2�
�6 <E &������0 ��77����$��&(��0 ��������� � ���&��.j-�2�. ����2����2 ��8
������&(�� <E ���6������0 7���$�� ϕj±# ϕ́j± !j = 1, 2, 3"# δ1# δ2# δ � ���&�� �����8
2� !D=" 
&. �&&j����$�� +������2 C ��������� L��� �����2�# ������� .�&.j��.
�&�������2 <8��# @8�� � F8�� ��������� !DF"A

ϕ1+(+1) − ϕ1−(−1) + (c2
1 − s2

1)
[
ϕ2+(+1) − ϕ2−(−1)

] − 2s1c1

[
ϕ́2+(+1) + ϕ́2−(−1)

]
= 0,

c1

[
ϕ1+(+1) + ϕ1−(−1) − ϕ2+(+1) − ϕ2−(−1) − 4a0δ̇1(τ )

]
+

+ s1

[
ϕ́1−(−1) − ϕ́1+(+1) + ϕ́2+(+1) − ϕ́2−(−1)

]
= 0,

s1

[
ϕ1+(+1) − ϕ1−(−1) − ϕ2+(+1) + ϕ2−(−1)

]
+

+ c1

[
ϕ́1+(+1) + ϕ́1−(−1) − ϕ́2+(+1) − ϕ́2−(−1) − 4ωa0δ1(τ )

]
= 0,

ϕ1+(τ ) + ϕ1−(τ ) − Cϕ3+(+) − Cϕ3−(−) + Sϕ́3+(+) − Sϕ́3−(−) = 0,

ϕ́1+(τ ) + ϕ́1−(τ ) − Sϕ3+(+) + Sϕ3−(−) − Cϕ́3+(+) − Cϕ́3−(−) = 0,

ϕ1+(τ ) − ϕ1−(τ ) − Cϕ3+(+) + Cϕ3−(−) + Sϕ́3+(+) + Sϕ́3−(−) + 2a0δ̇(τ ) = 0,

ϕ̇1+ + ϕ̇1− − ω(ϕ́1+ + ϕ́1−) = Q3

[
ϕ1+ − ϕ1− − C(ϕ3+ − ϕ3−) + S(ϕ́3+ + ϕ́3−)

]
,

˙́ϕ1+ + ˙́ϕ1− + ω(ϕ1+ + ϕ1−) = Q3

[
ϕ́1+ − ϕ́1− − S(ϕ3+ + ϕ3−) − C(ϕ́3+ − ϕ́3−) + 2ωa0δ

]
.

� +��&����0 ��������.0 �+�-��� ����2���� (τ) �&. ϕ1±# ϕ́1±# δ# � (±) �&. ϕ3±#
ϕ́3± 

��&� 2� �-�2 ��9���. L��� �����2� � ���� ���2���� !DC"

ϕj± = Bj±e−iξτ , ϕ́j± = B́j±e−iξτ , 2a0δj = Δje
−iξτ , 2a0δ = Δe−iξτ , !@<"

�� +�&�/�2 &������j ���������j �����2� �6 <E �&��?���/����0 ��������� ����8
����&(�� <E �2+&���� Bj±# B́j±# Δ1# Δ2# Δ ����������. � ��&j �� �+����&���&(#
+�&�/��2 ��������� ���� f(ξ) = 0# ����� �������� .�&.j��. /������2� 2�&�0
��62�-���� !� +&������� ���-���. e1, e2" ����2�������2��� ����$������� �����8
.��. 
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&. ��+�&����. �/��( ?�&(9��� �?K�2� ��/��&���� +�� ��0�1����� �+�2.8
������ �+����&���&. ���?0���2� ?�&� +��?�����( � +�2�-� ��2��&(��0 ��/��8
&���� � +����� baedap � +�������� �0 /��&����2� 2�����2� �� +����2 L��+�
6���/� ?�&� ��9��� �&. ��22����/���� �����.��. � ���������2� 2����2� +�8
���1��0 ��/��A

m1 = m2, σ1 =
π

2
. !@D"

��������� !@D" �&���� ��������� s1 = s3# c1 = c3# v1 = v2# Q1 = Q2 
� L��2 �&�/�� +�&�/����� ��������� �+����� /����� 2�&�0 ��62�-���� ���+�8

�����. �� 2��1���&�# �� ���( �������&(�� ������+����� �&���j-�0 ���������A(
ξ tg

πξ

2
− ω tg

πω

2

)(
c21ξ

2 − 2s1c1ωξ ctg
πξ

2
− S∗

1ω
2
)

= 0, !@@"

c̃ ξ(ξ2 − ω2)
[
s̃c31ξ

3 − 3c̃s1c21ωξ
2 − s̃(1 + 3s21) c1ω

2ξ + c̃s1S
∗
1ω

3
]

=

= (c̃1c21ξ
2 + 2s̃1s1c1ωξ − c̃1S

∗
1ω

2)×

×4Q3

[
c1ξ

3 cos
3πξ
2

+2(c̃s̃1s1ω+ s̃c̃1c1Q3) ξ2+(c̃c̃1c1ω+2s̃s̃1s1Q3)ωξ+ c̃s̃1s1ω3
]
. !@B"

k���(

S∗
1 = 1 + s21, c̃ = cosπξ, s̃ = sinπξ, c̃1 = cosσ1ξ, s̃1 = sinσ1ξ.


��&�������� ��������. !@@" !���+���j-����. �� ��� 2��1���&." +�� ��28
+&�����0 ξ = ξ1 + iξ2 +���6�����# /�� +�� ���0 6��/���.0 +���2����� ω � Q1 =
1
2ωs1/c1 ��� ����� L���� ��������. .�&.j��. ��-��������2� � �?��6�j� �/��8
��� ��?�� � L��2 �2��&� +�������� L��0 ������ ���&���/�� +�������j ������
��������. !DI" 


��/� ����� ��?. ����� ��������. !@B" ��� +���6��� �� ��� D � ���� +�����8
/���� 1����0 � �����0 &���� �&. �����.��� ���0 �����A �&��� � +�� Q1 = Q2 =
1/4# ω = 1/2# v1 = v2 
 0,707� �+���� � +�� Q1 = Q2 = 1# ω 
 0,766898# vj 
 0,934
!�� � ��� <U" +�� ��6&�/��0 6��/���.0 Q3 � �����������j-�0 m3 = γa0/Q3 !<E" 

��� D ��2���������� ��&�/�� ��2+&�����0 ������ ��������. !@B" � +�&�1�8
��&(��2� 2��2�2� /���.2� ξ2 > 0 � �&�/��# ����� 6��/���� +���2���� Q3 !� ��.8
6����� � ��2 6��/���� m3" �� .�&.���. �&�9��2 ?�&(9�2 �&� �&�9��2 2�&�2 
J�� ����� �����������j� ��&�/�j L��+����$��&(�� �����-�0 2�� ��62�-����A
|ϕ| ∼ exp(ξ2τ) 

����. 1� ������� �2��� 2���� � +�� �����0 6��/���.0 ω J�� +�6��&.�� ���8
&��( ����� � �������/������ $�����&(���� ����$������� �����.��. ���� !@D"# ��&�
2���� � $����� ����&�����.�� ������/���.2

0 < m3 < m3cr. !@E"

�����/����� 6��/���� m3cr !� �����������j-�. 6��/���� Q3cr" �+����&.���. �6
��&���. ��/�6������. ��2+&�����0 ������ ��������. !@B" !� M^ ξ �= 0" +�� m3 >
m3cr 

��� &j?�0 Q1 = Q2 � +�� ���&( ������ 2�&�0 m3 > 0 !?�&(9�0 Q3" �� 2��8
2�� ��� ��-������� �����( ξ∗ = iξ∗2 !ξ∗2 > 0"# ����2.-���. � ��&j +�� m3 → 0 

&. �����.��� � ω ≤ 0,5# Q1 ≤ 0,25 ��������� !@B" �� �2��� �����0 ��2+&�����0
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1

���� �� /���� ����
��� ���
�. 
�0���
����'  	��� +1���$�, � !��!�'  	��� +���*
���, ��	
����. +-�, ��� ��	)	��$% )�	 ���.% Qj � m3�

������ ���2� ξ∗ = iξ∗2  � ���&�/����2 2���� m3 ��&�/��� ξ∗2 !�����2��� �����
��62�-����" ��6�������# �������. 2����2�2� +�� m3# ?&�6��0 � m1 +� +��.���
��&�/��� ��� ��&(���9�2 ���&�/���� m3 !�2��(9���� Q3" �����2��� ξ∗2 �2��(8
9����.# �?��-�.�( � ��&( +�� �����/����2 6��/���� m3cr ≡ m∗

3cr = γa0/Q
∗
3cr# 7�8

������j-�2 � ��&���� !@E" 
&. �&�/�. Q1 = Q2 = 1/4 ��&�/��� m∗
3cr 
 5,05m1 

�����/����� 6��/���� Q∗
3cr# ����/�j-�� ��/�6������j ����. ξ∗# 2�1�� ��/��8

&��(# +�������� � ��������� !@B" ξ = iξ2# � ���&������ ��� +�������� +�� ξ2 → 0A

s1S
∗
1ω

5ξ2 − 2Q3S
∗
1ω

4 c1(1 + chπξ2) + s1ω shπξ2
chπξ2

+ ϕ(ξ2) = 0, ϕ(ξ2) = O(ξ32).

:���$�. ϕ(ξ2) = ϕ3ξ
3
2 + ϕ5ξ

5
2 + . . . +�&�1���&(�� +�� ξ2 > 0 !�����1�� ��&(��

+�&�1���&(��� �&����2��"# +�L��2� �����( ξ2 = ξ∗2 ������� ��������. ��-�������
��&(�� +�� ��&���� 2Q3(2c1 + πs1ω) > s1ω 
6 L���� ��&���. � �/���2 ��������
!<B" � !@D" ��0���2 �����/����� 6��/���� +���2���� !<>" Q3cr = Q∗

3cr �&. ����.
iξ∗2 A

Q∗
3cr =

1
2π + 4c1(ωs1)−1

=
1

2π + 2Q−1
1

. !@F"

� +����&� m1 → 0# m2 → 0 !Qj → ∞# j = 1, 2" ����1���� !@F" +����8
2��� ���# ���+���j-�� � +�&�/����2 � ��?���0 l=m ��&����2 �������/������
Q > Q∗

cr = (2π)−1 $�����&(���� ����$������� �����.��. �&. 6�2������ ������ �



��
�������
� ��

����
�� ���
��
�� ����
�
�� �
��
���� B=

����� ��/�/��� 2����� 	�������� �+����� 2�&�0 ��62�-���� �&. L��� ������ l=m

ξ3 + 2Q(2ξ2 + ω2) tg πξ + 4Q2ξ tg2 πξ − ω2ξ = 0

�&����� �6 ��������. !@B" !Q ≡ Q3" � ���6����2 +����&� mj → 0# j = 1, 2 
�+�9�2 +����?��� ��������� ��2+&�����0 ������ ��������. !@B" � ��&�

��/������� � ��-����������� ��L77�$������ 7���$�� f(ξ) � L��2 ��������� ���
����� ���+�&�1��� ��22����/�� ��������&(�� ��1��� �6 ���� ��L��2� +�� +��8
�/��� /��&� ������ ?���2 �/������( ��&(�� ����� � ��������� ξ1e0# ξ2 > 0 

��� Q1 > 1/4 �&. ���������� �������&� 6��/���� m3 ��-������� ������ ��28
+&������ �����( ��������. !@B" !�?�6��/��2�� ��1� ξ�"# +�� ?��&(9�0 6��/�8
��.0 Q1# �����������j-�0 v1 → 1# +�.�&.j��. ������ � +��&���j-�� ����� 
� /��������# �� ��� D +�� Q1 = 1 �����( ξ� +�.�&.���. +�� Q3 < 6,667� +��
Q3 = 1 ��2+&������ ����� �2�j� 6��/���. ξ∗ 
 0,262 i� ξ� 
 3,64 + 0,137 i k���(
1� ��?&j�����. � ������ �����( ξ	 
 5,49 + 0,017 i ��-�����j-�� � ���+�6���
0,86 < Q3 < 1,65 

��� ��6&�/��0 Q1 �����/����� 6��/���� Q3cr �+����&.���. ��/�6�������2
��2+&������� ����. ξ∗ �&� ξ� � +��2���0 �� ��� D +�� Q1 = 1/4 ���&�6����.
+����� �������# � Q3cr = Q∗

3cr 
 0,07� +�� Q1 = 1 � ������A Q3cr = Q�
3cr 
 0,05 

� �&�/��m3 = 0# /�� ������������� +����&� Q3 → ∞# 2���� � $����� ���������8
��# ����$������ �����.��� .�&.���. &������2 � n = 2# � ��������� !@B" +����2���
��� (

ξ + ω tg
πω

2
tg
πξ

2

)
ξ sinπξ = 0. !@="

��� ���0 6��/���.0 ω ��� �2��� &�9( ��-��������� ����� J�� �������&(������
�? �����/������ &������0 ����$�����0 �����.��� � n = 2 ���� !@D" 

	����/�����( �2��� 2���� � +�� Q3 = 0 !m3 → ∞" 
�?�?-�2 +�&�/����� ��6�&(���� ���&�6� �����/������ �� �&�/�� +���6��&(8

��0 2���# � /�������� m1 �= m2 	�������� �+����� 2�&�0 ��62�-���� � +&��8
����� ���-���.# �?�?-�j-�� ������+����( ��������� !@@"# !@B"# 6���( �� +����8
���� �686� ��� ���2�6������ ��6�&(���� ���&�������. ��2+&�����0 ������ L����
��������. +�������&��� �� ��� @ � ��+�&(6������2 ��0 1� �?�6��/����# /�� � ��
��� D 


&. ���&����2��� �����.��. ω 
 0,62025 ��������� ��2+&�����0 ������ ��8
/�������� +�0�1� �� �����$�j +�� m1 = m2 � �2����# +�� m1 �= m2 � �?&����
6��/���� 2���� m3 !@E" ��-�����j� ��2+&������ �����# �&�������&(��# �����.8
��� .�&.���. �������/���2 ��8+��1��2�# � �&�/�.0 m3 = 0 !&������� ����$�8
����� �����.���" � m3 → ∞ !7���������� ?������/�� �.1�&�. ��/�� � $�����"
���������j� ��2+&������ /������# � �2��� 2���� �����/�����( � &������2 +��8
?&�1���� 

��2+&������ ����� �� ��� @ ��� � �� ��� D ��?&j��j��. ���0 �����A /����
2��2�� �����( ξ∗# � ���1� ����� ξ� � ξ	 ��&���. �&. ���?���� m1 = 1 !L�� ���8
����&(�� ��������� γa0 
 3,376" 6�2���2# /�� � ���&�/����2 6��/���. m3 �����(
ξ� +�.�&.���. +�� m3 
 0,42# ξ	 � +�� m3 
 1,64� +�� m3 
 30,7 ��/�6��� �����(
ξ�# +�� m3 
 38,1 ��/�6��� �����( ξ∗# ������$# +��&����� �����( ξ	 ��/�6��� +��
m3 = m3cr 
 67,5 � �����/����2 6��/���� � ��&���� !@E" ��� �����0 +���2����0
�����.��. �����/����. 2���� m3cr �+����&.���. �6 ��&���. ��/�6������. ����.
ξ∗ �&� �����0 ������ 
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1

���� -� 3	����$ !	�$% 
�)!�0���' 
�. �����!$ � Q1 = 1� Q2 = 1
4
+m2 � 10,5m1, �

��	)	��$!� )�	 ���.!� Q3 � m3�

�?�?-���� ����1���. !@F" �&. �����/������ 6��/���. +���2���� Q∗
3cr# �+��8

��&.j-��� ��/�6������� ����. ξ∗# �2��� ���(
Q∗

3cr

)−1 = 2π +Q−1
1 +Q−1

2 .

� �/���2 ��������� !<E" m3 = γa0/Q3 ��0���2 �����/����� 6��/���� 2����

m∗
3cr = 2πγa0 +

m1√
1 − v2

1

+
m2√
1 − v2

2

≡ E −m3, !@C"

������� ���+����� � L������� ������� �����.��. ������ ?�6 ��&��� 2����m3 l<# Fm 
����2 �?��6�2# 2�1�� ���&��( ����� � �������/������ ������� ����$�������

�����.��.# ��&� $�����&(��. 2���� 2��(9� L������ ������ � ����&(��2� 2����2� 

I� �% ��$$�� 9�4��%���"$%� ��D9:>�$%? ��!"E%�$$)L  � !�;$%?

J��� ��6��& +���.-�� /��&����2� ���&�������j 0�������� � L��+�� ��6����.
�?����1����� ��9� �������/������ $�����&(��0 ����$�����0 �����.��� !=" 
�8
+�&(6���� +���&�1����� � ��?���0 l@# B# =m 2���� ���/��� ���1���. ������ � 2��8
��2� mj �� ������ 6������0 ��/�&(��0 ��&���� � ��/�&(���� +�&�1���. ������
Xμ

∣∣
ini

= �μ(σ̃) � ��/�&(��0 ��������� �� ��/�� Ẋμ
∣∣
ini

= vμ(σ̃)# σ̃ = σ̃(σ) 
��&� ��/�&(��� ��&���. �����������j� ����$�����2� �����.��j !=" � 2�&�2

��62�-����2# �� ���/���# +���������� �� ��� B �&. ���6����0 +���2����� ��8
���.��.# +���6���j� L��&j$�j ������� ��62�-���. � ���� �7������7��� +�8
&�1���. ������ �� +&������� ���-���.# ���&����0 /���6 ������ +��2�1����
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���� �� 3�������� !�
�����
	��� (
������ 
�)!�0���' ���	�����$% �����.��'�

���2��� Δt ���1��2 �?�6��/��� +�6�$�. $�����&(��� ��/�� m3# 6��6��/���
� ��/�� m1# �.��2 � ��� +������&�� ��2�� �7������7��� ������ 
&. ���0
���0 +���6����0 �����.��� � ��/�&(��0 ��&���.0 6����� ��62�-���� ��������
vμ(σ̃) = vμ

rot(σ̃) + δvμ(σ̃)� 2�&�. +�+����� δvμ ��&�/�� �� ��&. &�9( �� �������8
&� σ̃2 < σ̃ < σ̃3 !σ̃3 − σ̃2 = π" 2�1�� 2����2� m2 � m3# ��� �2��� ��� δvμ(σ̃) =
0.01 sin(σ̃ − σ̃2) 

��� ����2# ��&� 6��/���� m3 ��0�����. � �������&� !@E"# � �����2��� �����
��62�-���. ξ∗2 �������/�� ��&��# �� L��&j$�. �����-��� ��62�-���. +�������
� ���&�����j 2���� m3 �� $�����&(���� +�&�1���. � � +�����-���j �&�1��8
��� ����� ������ �� ���-�j-���. ������&(��� �� �2���� +�&�1���� 2�������0
��/�� ����. �����$�. �2��� 2���� � ���0 +��2���0 �� ��� B# � ������0 m3 = 1 

� �&�/�� m3em3cr# 2�&�� ��62�-���. �� ������# $�����&(��. 2�������. ��/8
�� �������. �?&�6� $�����# � �����.��� .�&.���. �����/���2 ��0�1�. �������
��?&j�����. �� ��� B � �&�/�� m3 = 5# ����� L�� 6��/���� ?&�6�� � �����/����2�
m3cr 
 5,05 � �����2��� ����� ��62�-���� �/��( 2�&# +�L��2� ��� �� 6�2���� 


"=�'(�$%�

���&���/����� ���&�������� �+����� 2�&�0 ��62�-���� � /��&����� 2���&�8
������� L��&j$�� �����0 ��62�-���� +���6�&�# /�� $�����&(��� ����$������
�����.��. !=" ������ � ���2. 2�������2� ��/��2� �������/���# ��&� 6��/����
$�����&(��� 2���� m3 &�1�� � �������&� 0 < m3 < m3cr �����/����� 6��/����



E> ���� �����

m3cr ����� L������ �����2� E−m3 ?�6 ��&���m3 !� �����$�0# � ������0 �������(
����� c = 1" 

� �&�/�� m3 = 0 &������� ����$������ �����.��� � n = 2 �����/��� 
��&�/�� +��������� 6��/���. m3cr ��-�������� ��&�/��� 6�2�����j ������

�� &������� �������� 2���&� q8q8q lCm 
&. +��&����� 2���&� $�����&(��� ����8
$������ �����.��. �������/��� +�� &j?�0 6��/���.0 $�����&(��� 2���� 

����� +��6����&�� �::
 6� +�����1�� � ��2��0 +������ >E8>D8<F=DD 

�6% �= �%!��"!:�)

l<m 4���� � � �+���� �����.��� 6�2������ ������# �����1����� 2�������2�
��/��2� �� ������� ���	# ��� ����&����. 2���2 # D>>= �E !@@" ��+ B 
� D< 

lDm )�&������ � � # 4���� � � �&����7���$�. ����$�����0 �����.��� 6�2���8
��� ������ � 2�������2� ��/��2� �� ������� ���	# ��� ����&����. 2���8
2�����# D>>= �D= !EE" ��+ = � <@< 

l@m sPUS[y � s �WUTXS[OUOX[NUY ^[OX[NT UN_ TOU\XYXOZ RS[\YQ^ XN _ZNU^XGT [] TOSXNf
PU_S[N ^[_QYT �� cPZTXGUY zQyXQV x D>>> q FD �I c >IB><E# PQR8RP�>>>B>>@ 

lBm 4���� � � �������/�����( �������� 2���&� ?������ } � ��2��0 �&����/�8
���� ����2��� �� 5�����. 7�6��� D>>D � FE �E � I@C 

lEm )�&������ � � # 4���� � � k�2������ ��&.���������� ������ � +�������8
����0 � ��������&(��� ���2������ �� �������/ � 2���2���/ 7�6��� D>>E 
� <BD �< � =D 

lFm sPUS[y � s sOSXNf \USZ[NXG ^[_QY �OSXUNfYQ�A tZR[GZGY[X_UY T[YWOX[NT UN_ OPQ
zQffQ OSU�QGO[SXQT �� cPZTXGUY zQyXQV x <IIC q EC �<< c <<B>>I 

l=m )�&������ � � # 4���� � � ���?&�2� �����/������ �&. 6�2������ ��&.��8
�������� ������ � ��/�/��� 2����� �� ������� ���	 ��� :�6��� ����( 
D>>E# �I !<E"# ��+ D � <<B# PQR8OP�>E<D@D@ 

lCm 4���� � � ��62�-���. ����$�����0 ���1���� �&. �������0 2���&�� ��8
����� � +��?&�2� �����/������ �� 
6�����. ��6�� :�6��� D>>D � BE �< � 
FE 


